
continuon .

# #HW 1-5 (1.4p84) Page 1 # #

lit (684)35 *,43,45,47* 49,51,53,61*

1,5 (842) 37 ,11,13,16,17,21,25*,31

a Describe the continuity of the interval

e g(x) = 49 x² on [-7 ,? ]

(Find discontivities) con
( f(x )=3x - cos a
(see Th 1.1) ,3x conto, cosx cont.
so the differem is cont.

B f(x)= x when is x²_x = 0?

linoxfx-is a lineto f = -1

lim t =DNE (vertasymptote) not removable

43 (6)= x*+2 10 = x2 urs)
lim f(x) = 2 2 = 1 iremovable disc.

lime f(x)= *ione non- removable

A f(x) = 1x+?\/
limonf(x)= -(x+1) =-12{so lim f(x)DNE
X (x -1)= 0

so removable , let f(o)=-|

x +2

-
27
X 7 -2

x75

 Xt

lim X7
so nou -renovable
x + 7
T I
= J
7+ X +7
X (0,1) 0(22)
1o(21)
s ²x+),
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③ f(x)= { tan1 tl kai .
(x xIII Cx,

no removable disc. 6, xal

9 -1 <xcl
. * 21
t 9(1,1)

(- A)

x 22 - both polynomials are
ax² . x2 - continuous.
what happens @ x =2 ?
lim f(x) = lim x3 = 23 = 8
xté X2

lim f(x) = lim ax2 = 4a

When does 4a =8 ?
X2

 a =2

so continues only when a =2



pa2 3 ,9,11,13,16,17,21,25 ,31
a Det. limit as x -zt ad x -7 -2 -
8 f(x) =2 |1x-3/4+2) lim f(x)=t00
X -2
 fx) = + 0
lin-27
X

lim t
(x-42 Xx4tim fx) = 0
@ f(x)= x40 lim fm)=.00

© AG)-costa a fost o
x -4+

® f(x) = 1
x =
(x -3 Xx+3 ) ∞

X -3
einX -3 + x =-
3
f(x)= - 00
- X = 3
® (G)= three ( 3) - 11
Al
yelt
lim f(x) = 0
X -3 x = -3 x =3
i'ma 3+ f(x)= - 00

 x 1-3.1/-3.01/-3.00)1-3 -2,09/295|

f(x)~ 119.08 |190 nog in 1909-190
lim
x -3

 % 2o

V
linarzt f(x) = -00

② f(x)= £vert. asp. at x=0

2 g(t) t-1 +² +170 always

+² +1 no vert. asym.

(23) f(x )= 4x +4y-24 . . x * _2x²_9x²+18x = 0

" - X4_2x² - 9x² +18* x2 (x²_2x ) -9x (x -2)=0

4x² +4x -
240 (x - 9x )(x -2 ) =
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& st) = t
sint sint zo when t = ni
- ntr
hole at xzo
vert aspe totes all others (nl,nez={0})


